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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION - A

What is the function of pupil in human eye ?

Name the products obtained on complete combustion of ethanol.

State any one reason for the conservation of forest and wild life.

Give the full form of CFC.

Draw a neat diagram to show the refraction of a light ray through a glass prism, and
label on it the angle of incidence, and angle of deviation.

Where should an object be placed in front of a concave mirror of focal length 20 cm so
as to obtain real image two times magnified ?

Why does the sun appear reddish early in the morning ? Illustrate with the help of a
labelled diagram.

Name the type of asexual reproduction in :

(a) Planaria (b) Rhizopus (c) Spirogyra (d) Hydra

(i) What is common in the elements belonging to the same period of periodic table ?

(i) Why are Chlorine and Bromine kept in the same group in the periodic table ?

An element belongs to third period and second group of the periodic table
(a) State number of valence - electrons in it.

(b) Isit a metal or a non - metal ?

(c) Name the element.

(d) Write the formula of its oxide.

(a) Write full form of D.N.A
(b) Why are variations essential for the species ?

Suggest two methods by which our consumption of coal and petroleum can be reduced.

Differentiate between :
(a) Asexual reproduction and Sexual reproduction.

(b)  Self pollination and Cross pollination

A needle placed 45 cm from a lens forms an image on a screen placed 90 cm on the
other side of the lens. Identify the type of lens. Determine its focal length and the power.
What is the size of image if , needle is 5 cm in height ?
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15.

16.

17.

18.

19.

20.

21.

22,

A person wears spectacles of power - 2.5 D. Name the defect of vision he is suffering
from. Draw the ray diagram for

(i)  the defective eye (if)  its correction after using a suitable lens

(a) For the same angle of incidence 45° , the angle of refraction in two transparent
media; I and II is 20° and 30° respectively. Out of I and II, which medium is
optically denser and why?

(b) Light enters from air to diamond which has refractive index of 2.42. Calculate
the speed of light in diamond, if speed of light in air is 3.00 X 108 ms~!

An organic compound A is widely used as a preservative in pickles and has a molecular
formula C,H,O, . This compound reacts with ethanol to form a sweet smelling
compound B;

(a) Identify the compound A.
(b)  Write the chemical equation for its reaction with ethanol to form compound B .

(c) How can we get compound A back from B ?

(1) The elements of the second period along with their atomic number in parentheses
are given below:

B(5),Be(4),0@),N(7),Li(3),C®),F(©
(a) Arrange them in the same order as they are in the periodic table.
(b)  Which element has the (i) largest (ii) smallest atom ?

(2) Why does the atomic radius change as we move from left to right in a period ?

(a) Draw a flow chart to determine the characteristics of the progeny of a cross
between Tall Pea plants with Short Pea plants showing

(i) F1 Generation
(i) F2 Generation.

(b) List the Dominant and Recessive characters.

(a) Differentiate between :
(i) Homologous organs and Analogous organs
(ii) Pollination and Fertilization

(b) What do fossils tell us about the process of evolution?

Justify giving reasons how human male only is responsible for the sex of a new born
child and female has no role in it.

(a) Explain giving examples how artificial selection has helped in the formation of
newer varieties of cauli flower.

(b) List the steps involved in the formation of new species.

(c) How different races of human beings belong to the same species ?
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23.

24.

25.

Under what condition, a concave mirror produces a virtual and magnified image?
Draw a labelled ray diagram to show the formation of image in the above case.
Also state the position of object to produce magnified and real image.

A ray of light moving along principal axis is falling on a concave mirror. Draw
the path of reflected ray . Also state the values of angle of incidence and reflection
in this case.

OR

Where should an object be placed in case of a convex lens to form an image of
same size as of the object. Show with the help of a ray diagram the position and
nature of the image formed.

With the help of ray diagram, illustrate the change in position, nature and size of
the image formed if the convex lens in case (i) is replaced by concave lens of same
focal length.

State the condition under which a light ray passes undeviated through a lens.

Write chemical equations along with necessary condition for the following changes
to take place :

(i) Ethanol to Ethanoic acid.
(i) Ethanoic acid to Sodium acetate.
(iii) Methane to Chloromethane.

What is a homologous series of organic compounds ? Explain it with an
example.

OR

Complete the following reactions stating the main products formed in each.
@) CH,-CH= CH, + H, T catalvast _
(i) GC,H;OH + Na UL
(iii) CH; COOH + Na,CO5 U L-

Write the next homologue of propanol (CH;CH,CH,OW) and Butanal
(CH,;CH,CH,CHO)

Draw neat labelled diagram of human female reproductive system.

Name one organ each in the body of Male and Female reproductive system that
plays a role of endocrine gland along with the production of germ cells. Name
one hormone in each case.

Name the part where the fertilization of gametes takes place and also the place
where the fertilized egg is implanted.

OR
Draw a neat labelled diagram of pistil showing fertilization of pollen on stigma.
Give the functions of : (i) stigma (ii) ovary

State in brief the formation of seed in a flower.
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26.

27.

28.

29.

SECTION - B

Anita determines the focal length of an optical device “x” by focussing a well illuminated
distant building on the screen (as shown in the figure). The device ‘X’ is

AN |
=

Screen

(a) Concave mirror
(b) Convex mirror
() Plane mirror

(d) Convex lens

To determine the focal length of a convex lens, Toni obtained the image of a distant
tower on a screen . For getting correct result he should now measure the distance
between the

(a) screen and tower

(b) lens and tower

(c) lens and screen

(d) screen and tower and also between the lens and tower.

Monika has to determine the focal length of a concave mirror and a convex lens of
focal length about 15 cm each. She uses a distant tree as the object and obtains the
sharp image of the tree, one by one on a screen . The distances [; and I, between the
mirror / lens and the screen in the two cases and the nature of their respective images
obtained on the screen are likely to be

(@) (30 cm, 15 cm) and ( erect, inverted)
(b) (15 cm, 15 cm) and (inverted, inverted)
(¢) (15 cm, 30 cm) and (inverted, erect)
(d) (30 cm, 30 cm) and (inverted, inverted)

In the experiment on refraction of light through a glass slab done by four students, A,
B, C, D, the following observations were made. Which of the students made the correct
observations?

(a) The emergent ray moves towards the normal after second refraction through

glass slab with Oi= Ue
(b) The emergent ray moves away from normal after second refraction through glass

slab with Oi <Ue

(c) For any angle of incidence, always i >Ue

(d) The emergent ray moves away from normal after second refraction through glass
slab with Oj = Qe
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30.

31.

32.

33.

David recorded the following sets of observations during the experiment with a glass
slab while tracing the path of a ray of light passing through a rectangular glass slab
for four different values of angle of incidence.

S. No. 0i Or (e
I 30° 19° 30°
II 40° 27° 39¢
I 50° 40° 50°
v 60° 35¢° 60°
The INCORRECT observation is at the serial number
(@ I (b) 1I () I d) 1V

15 mL each of ethanoic acid and water are mixed together and shaken in a test tube
as given below.

ethanoic Water
acid
|| clear || Turbid
| solution [~ | solution
W/ SN<~——
\atg \_)\ SNS—— ~S~———
I I ethanoic I v
acid
The resulting mixture after standing would appear as shown in test tube
(@ I (by 1I (c) 1 (d)y IV

A student added acetic acid to test tube I, II, III and IV.

N Sr AC?tiC ) Acetic 3 Acetic éetie
Acid Acid Acid Acid
21— Sodium Sodium Sodium
Chloride Hydroxide Hydrogen Carbonate
Carbonate

III v
The lighted candle would be extinguished when placed near the mouth of the test
tubes :

(@) TandII (b) I and IV
() IIand III (d) II'and IV

To show that zinc is more reactive than iron, the correct procedure that should be
followed is to

(a) heat both zinc and iron strips and observe

(b) add dil acetic acid to both

(c) prepare iron sulphate solution and dip zinc strip in it.
(d) prepare zinc sulphate solution and dip iron strip in it.
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34.

35.

36.

37.

Zinc granules are placed in each of the four solutions A, B, C and D as shown. Colour
change would be observed in __

A B C D

Aluminium Zinc Copper Ferrous
sulphate sulphate sulphate sulphate
solution solution solution solution

(@) AandB (b) Cand D (c) AandC (d Band D

Babita took Cu, Al , Fe and Zn strips separately in four test tubes labelled I, II, III and
IV respectively. She added 10 mL of freshly prepared F SO, solution to each test tube
and observed the metal residue in each case

She would observe a black residue in the test tubes

(@) TandII (b) IIand III () IIandIV (d) II'and IV

The following illustration shows four stages of binary fission is amoeba. The stage at
which nuclear fission and cytokineses are observed is

I f //‘\/?\\ II (\“\_ o s
{‘; ] \; @i 7

\
m (g N e
@) I (b) I () I d IV

Out of the following four diagrams I, II, IIl and IV, the correct labelling of budding in
yeast is depicted in the diagram

T Mucletis : Nucleus of Nucleolus of bud
fragment 2 of bud mother cell
7 Nucleus Nucleus of Nucleus of Nucleolus of
- yeast yeast
A daughter cell
(@ I (b) II (c) I d) IV
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38.

39.

40.

41.

Two prepared slides showing stages of reproduction in (i) amoeba and (ii) yeast were
observed by four students A, B, C and D. The observations as reported by the four
students as follows -

A Cytokineses was seen in the yeast cell.

B In amoeba, elongated nucleus was dividing to form two daughter nuclei
c A Chain of buds was seen due to reproduction in amoeba

D Single cells of amoeba and yeast were undergoing binary fission and bud-

ding respectively.
The correct observations are
(@ A, Band D (b) Aand Conly (c) Conly (d) Band D only

To determine the percentage of water absorbed by raisins, before final weighing of
raisins being kept dipped in water at 30°C for about 90 minutes, extra water from the
soaked raisins is removed by

(a)  hot air blower (b) silken cloth
(c) filter paper (d) dry cotton wool

If the water absorbed by soaked raisins is 40 % then the mass of raisins before soaking
in water (M;) and the mass of raisins after soaking in water (M,) might have been

(@ M;=20gandM, =24g¢g b)) M;=20gandM, =28¢g
(€9 M;=5gandM, =9¢g (d M, =6gandM, =9¢g

Sheela soaked 2 g raisins in 10 mL of water in watch glass A and 5 g raisins in 25 mL of
water in another watch glass B. She maintained same temperature in two cases and
after about 2 hours measured the volumes of the water left in the two watch glasses.
She would observed that

(a) There is no change in the quantity of water in watch glasses A and B

(b)
(©)
(

d) Water left in watch glasses in both cases is almost the same.

There is more water in watch glass A than in watch glass B

There is more water in watch glass B than in watch glass A

-00o0-
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10.

11.

12.

13.

e = § qael o 1w © 2

AT o QU1 T8 B T I aTel Scatal < M fafEu)
T T 1 {19 o GL&IU I his Teh HRU i |
CFC &1 qU 4 ferg |

Hid & TUSH G YehT9l 1 TohT0T a1 ST9ede o oS TR 3MTqde hivT el fa=rers shivl <hl
ATHifRd ShifeTT |

20 9.7, Wik U ATt Taqe SV o |IHH %] el @ ST dfeh & 4 TR 1 aRdfah
gftfors o9 Toh |

;e YA AT /i fe@mt < € THifehd fors SRt 3o Fifag |

=1 H e1cifiter g o1 9hR IaEd |
(a) AR (b) TEEIE  (¢) TR (d) BB

(i)  TEd RO % HHM e | 9 S 9Tl dol § 9 THM § 2
(i) AN T S ol STed TR o THE e H =l @1 T2

Teh dcdl 3ATed ARV o e ST T gER e 9 el ¥ -
(a) TUH UM WIS SeiagMl i & s |

(b) T UG T AT 370

(c) o 1 T fofEy

(d) 3HY A 9l RS S G fafa |

(a) D.N.A. % W forgi |
(b) forslt genfa & forr fafymamd =i smaves 2

FIIS TN YT Y I D! FHH HA h Hls o U G |
=1 ° o fafam

(a) TR oA 3R <ifiTeh U
(b) TEIRETOT TR R AT
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14.

15.

16.

17.

18.

19.

20.

21.

e e forent gfdfara o o9 & Tl $R 90 cm W 9941 § &9 & 45 om R & T A
YehT, Wik U AT &HT J1 BT |
IfE GE T G 5 cm B <l WAl T SRR 1 T

I A - 2.5 D 1 IYHT U1 & 98 e 29 & ifed & e s |

(1)

(a)

(b)

HERESAE] (i) HeNfHa <9 & aE g T

UM 39T 0T 45° o ferd <1 areeies mead [ 11 § ST9eda v 20° 3R 30° © [ 3iR
11 & i |1 H21eAg GoF § SR i 2

RIS i B H e R UMD SHITSTT ST FhTSt o W € H TOw e 71 (ER A
ST 2.42 T 1 H YohTe1 shi =t 3.0 x 108 H./AR)

T Hreteh AT C, Hy O, 3TER # ufierds & fodl Swam faran S § 7@ 3ifieh e &
foman ek gg TieaTen iR B oI €

(a)
(b)
(©)

(1)

Fifirent 1 TE=IT |
Fifirer B 91 et TEEfies sifufean fafaw)
AfiTeh A 1 B & T: HY I L Fehd € 2

T A6 % q T SR TN Fe&A A T T
B (5),Be(4),0(8),N(7),Li(3),C(6),F(©9)
(a) = 39 ohH B afeed wifey S oTed aront § ¥
(b) h © T A TG
() TEEBEREIAN (i) T TSR
forelt amrerd © <ifg @ ST 3R ST R AT e i seerd € 2

T o for= 1 T § fownsd i

9 T HeX o W ™1 A HeX F el T HRTOT HIAT T q
=1 dafa diet 3 %9 7o fFuilRd gu

() F1 9t

(i) F2 9t

et T ST T[un i fafEw |

T TR A

() HHSIA ST q HHEY T

(i) RETOr qen A

Strareq g foasma wehd & foma | aa s € 2

RO Gigd sl o Fhaat ey & a=i & o fruior & fo2 Swerh § 3R ot &1 sad a1
EREEERES

086/X/SA2/14/ A1 10



22.

23.

24.

25.

IR0 Wfed-waee HIST foh Him == 7 wa et ot 2t fohey & Fmior & 9
TR i ?

Tt geifa & faior & fo fafie = = fafaw)

g i fafie yenfaa g gR T 2 yenfa | Hey Tt § 2

Teh [EIes i TRl ¥ <wizd for form frafq § ofaqa <dur gru et we stmefidd
yfafers g 2 1 safia we arsaferen gfafrs o ford agg w1 feufa el w a2

IS YhTST hi TohR0T STaIqeT TUUT TR YA 3187 o FHMIR STl & | WRdfdd BT 1 At
TYiEy 3R 39 feafq # oA9a= hIvT qe Werd= ShIvl &1 HIF odrst |

a0

A 19 GRI %] o THM SR hT Fidfers) Yt s o e ag el W @l e =gy
T@fe i e 9 gfafera i yehfa e fefa guisd |

e g1 wwensd fop ufdfora i fearfd, yepfa iR stepr & 5 ufterds 2 © <1 39t
TH & T W (i) T o (SH R g A1) TR H A0 L |

TeRTeT i foheor oig | fomn foafera gu fora feafa & qoret €2

A TR fafed (etevae qitff s

() TAA § TUAEE A

(i) TR TR § Hifeay THiee

(iii) TR @ FARHAA

TSR AR Sl THSIAE SUT & 1 AV § 3T Hied T i |
av

Frefafea Tt Tl i o7 a1l T8 SRl o |12 g it |

(i)  CH,-CH=CH, + H, O - Ni - S&&

(i) C,HOH+Na OO-

(iii) CH, COOH + Na,CO, 0 -

WA (CH,CH,CH,OH) 3R &9 (CH,CH,CH,CHO) 1 STTel Fwsiifaa ferd

YEd & HIGT S a3 1 AMHifhd fors oA |

TR 3R g1er § 39 377 1 A9 fo@l St S 93 STasne) Ui & 91 S e o i
A1 €| U o Ueh B b1 AW ot fafaw |

9 97T T A9 o Set W g w1 e o ¥ SR fifed ster enfua S R
ar

el § afderm W foem tfufshan o1 grex amifera fosy s -
(i) afdem (i) STe™a (SHT & wr fafaw)
Herg | sarstt T qoq # ot o1 fafor 58 Srar 82
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26.

27.

28.

29.

HAT-o

T gk ‘X’ 1 HIRE g0 S & fod forelt X e wahm a1 wfafona od X femm ™
ol &% 3TTAR wIehd il § I ‘' ©

AN |
=

e
(a) STdA YU (b) 3T U
(c) HHAA TUU d) 3TA @"

I 3T T T IR T TG F b fordl ek X Feord 21er 1 wfdfera o8 Wy e § vt
o ST % T S8 fRaes s 6t gl Ao w2

(a) U< SR TR
(b) < R 2R
(c) oig 3R el
(d) Uel 3R IR qe T IR TR

HfTeRT Teh STael TUU SR T 3T o g TSeh! Hishd g @ 15 9.1 8, X feera U
1 fiue AMeR e gfafas ai-a 9 98 W 9T ! § o iR g0u 9 w3 it gt A
3R 1,7 ST fearfesll § wfafarii o6t o8 W wopfa Hered anft

(@) (30 cm, 15 cm) 3R (Eften, 3e)

(b) (15 cm, 15 cm) 3R (3T, 3edl)

(©) (15 cm, 30 cm) 3R (32T, Hie)

(d) (30 cm, 3 cm) 3R (3=, 3I)

e & Tk N 3TeA & FAm # =R famne A, B, C @R D fr=fafaa Jam < ®, fha
foremeft =1 wRieyor Tt ¥ 2

(a) Trid foreor siw o ek ¥ T STYedA o TLE AT i S Fahet T qe
Oi=0e

(b) Tfa foRRo &= o TJeoh | T ST9e o 9ReTd e § g ged! § a1 Oi < De

(c) oIS oft MU hior gaen Oi > Dedrr g1

(d) i foRor &= & ek | T ST9ad o IeEa ATV ¥ QT © a1 O = [e.
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30. f9e gRI STATHR T & T[eh W BT YhTeT Fohur o 9 YT gRT SARFEd ek =R faer-
9= 3T9a IoT &t |19 & T |

S. No. i Or e
I 300 19° 300
i 400 270 390
I 500 400 500
v 60° 350 60°
TTeTd WeToT R HY © :
@) 1 (b) I () I d 1V

31. et 9@l § Y% 15mL TS 3T 31R It oo 273t YR 9 faemm w f= faa &
STIHR SR T E
— —— —— ——

TR 3T Sl

-

—— — freet
IENEE EERY
Esill —
~—— \_)\ S~S——— S~S———
I 1 TR 3TRT 1 v
FS T qH Hren T W) g 6 gfom e
@@ I (b) 1I (c) III d) 1V

32. fordt foammeft 3 ww@=ett 1,11, 111 @R IV § tHifes ovt famn

e .

At HHe R & Hg o I8 W T 3 S |
(@) 13RI (b) IRV
() IISRII d 1SRV
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33.

34.

35.

36.

Ig g9 o ford fSior oo | e1fues foramefiar & @t woRm &m -
(a) TSish Qe SRR ST 1 TTH shish Y&T0T HTAT

(b) <M ¥ UHifew 37t T W

(c) S Fcthe foeem TR X S SeH ™

d) 5% Tethe faeam TR R A e |

IR fae@m il A, B, C 3R D # 5 & Zohe W W ford wqelt § 11 uftedy fe@mht <ar &2

A

Tepfafem TS HTH e
Hethe faerd Hothe faerd Hethe faeem Hothe faerm
(a) A3RB (b) C3RD @ ARC (d) B3RD

FelTdT 9 Cu, Al , Fe 3T Zn ! I o1 3TeTT-3T IR q@Atal | 1 11, 111 3R IV | 99

ST 3R Yedeh WREArerdl | 10 .. el a1 STRRA 9othe 1 faered faemet o1 sTasi &1
1o TRl I TREelt § Shicl SToRY <@ ¢

(@) 13RI (b) 13RI () M 3RIV d) 1RIV

1 eyt ® fgmiea @i =R frafaai foamh w8 € wd feufa fomd Tveria forge 9o gRdesatad
ICETG ﬁ'@ﬂ?ﬁ ﬁ?ﬂ :
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37. T =R feA L I, I TR IV § I & Yoot ol ST €, Yoo o1 Tal ik fem@man T 1

ARER
: EERCIN e
A TS /g 1 S o
ke e F FoF S S A 1 il
' H FEF

@ 1 (b) I (c) I d) IV

38. oFHian (i) A (ii) H TS I fafie stemenaii 1 wiee 9t <9 =g =R fomneff A, B, C 3k 1
D = Yegor fopal | = forenff=i gR0 STerciifRa Jeror f TR ®

A = I | WES HEAHH <@ T

B . orHien § hses faiaa Rt 1 Hafa sl o1 IO R
C :  ofHien B YN % RO GHe hl §Ee <@l T |

D o7 iR e & U R A fgeed oI qepe quitd ¥
& YU T

(a) A,B3RD () ASRCHIA () CHaad@ (d) B3IRD Haw

39. forwifaen g ST i STaeniod Ffaerd O Jd & o o 90 e a6 30° C R fepwrtien &1 1
Afqq vR o9 9 e e frwfien @ et e W 1fafted siar et foen smam -

(a) THEAMFRER I (b) Took & HUL gN
(c) TR T g (d) At 3 H FW

40. afc frwfeh gr sterifod St 1 Ufaerd 40 (40%) € 79 It | g 9 Yoot fopafaen w1 w1
(M,) T Tt H et amet fepter W foRfRmeil &1 Wik (M) BT =T

(a) M, =207 3RM, =24g (b) M, =207 3RM, =28g
() M, =5T3RM,=9g (d M, =6% XM, =9g

41. el < T o T A | 2 0. TR 10 mL 9§ Sredt @2 5 U1 foheiHe 25 mL o H g 1
T T B H STelt It S SF1 1 a9EE GHE W@ T ES o UYETd I 9T Rl IR /11 98
ﬁawﬁmﬁ%:

(a) A SRBTME H S I A H FIE IRAAH el ol |
(b) AHBY aife Tt ¥

(c) BH AT sifus ot ¥

(d) I H o= U R T S T R

-00o0-
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